How many x-intercepts does each cubic have?

Finding x-intercepts by methods other than graphing. 205
distinct real zeros! e ,,,u‘r>
: N0 X
Find them. (
* x-intercepts are Real Zeros of the factors of a 1 y=(x+3)%x-2) 2. y=(+1)(x-3)
polynomial. x-int: ~2# 2 x-int: =2
¢ x-intercepts can sometimes be found by making Graph in a Standard Window T
y = 0 and and finding the Real Solutions like you v
normally do. ‘ /
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this graph shows that the this graph shows that the

function has only 2 distinct function has only 1 distinct
ZEeros. zero.

I fi ring: : - i ' '
S? ve by ?Cto Ing . | _ Find x-intercepts by making y = 0 and solving with
Find the x-intercepts of this polynomial by makingy = 0 algebra:

and factoring. Then find the real zeros of each factor.
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Construct a cubic with the following characteristics. g,? grsatétj ecrti;[iféh cegreepelynomial wih thelielewing
There will be more than one possible answer. :

Example answers are given. There will be more than one possible answer.

Example answers are given.

1. 3 distinct real zeros 2. 2 distinct real zeros
. 1. 2 distinct real zeros. 2. 1 distinct real zeros.
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3. 0 real zeros. (N’ ;/

MOT ?bSSIBLE

all polynomials of odd degree
must have at least one
x-intercept.

Construct a 6th degree polynomial with the following

characteristics. There will be more than one possible answer.
Example answers are given. Hwk #26 Due tomorrow

1. 4 distinct real zeros. 2. 1 distinct real zero.
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Done with Topic 5!!! Test time

Thursday

Factor completely.
1. 12x2 = 52x 2. 6x3 —96x
P (3x ~/3) ox (x ?:/(o)\
No more factoring to be done. X (x + “/) g{Ezf;%E;ence
3. 8x3 + 72x e

be factored

9 (x2+9)

No more factoring
is possible.

Factoring Polynomials:

Binomials

e Start with GCF, if any.
e L ook for Difference of Perfect Squares.

Trinomials

e Start with GCF, if any.

e Factor into its two binomial factors.

e ook to see if either binomial can be factored
further using Difference of Perfect Squares.



The following method of factoring is sometimes referred to

Factor com p|ete|y as the X or Box method. There are other methods for

factoring.
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